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(I like Hirosaki Park the best. The cherry blossoms there are very beautiful ).

SHIIFEA L7722 &

7 Could you ( tell me how to get

) to Hirosaki Station?

« (One of my friends lives

) in Hirosaki City.

» Please ( say hello to Jane for

) me.

yourself

1 I was surprised to hear that she is your friend.

2 I've decided to study English harder.

7 Here you are.

4 No, we didn’t.

[A] §) [B] 2

7) ( Gxb) Ky )
) ( Bl cBERLES )
(7)) ( BFLWFETIHELTCND )

1 She made the patients’ beds.

[C]

2 Because 1t was her first time to meet a foreigner outside of school.

3 No, she didn’t.

I want to be a doctor or a nurse in the future because I want to help sick

people in my hometown.
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